

214-273-4083 BUBBLYANDBLOOMS.COM



A LA CARTE

	PRICE STARTING AT
BRIDAL BOUQUET	\$150 - \$350
BRIDESMAID BOUQUET	\$75 - \$150
CORSAGES	\$35 - \$65
BOUTONNIERE	\$15 - \$30
LOW TBALE ARRANGEMENT	\$75 - \$150
HIGH TABLE ARRANGEMENT	\$195 - \$420
ALTER DECOR	\$225 - \$550
AISLE DECOR	\$125 - \$550

PRICES VAIRE DEPENDING ON FLOWER TYPPE PRICES LISTED IS OUR STARTING PRICES FOR ARRANGEMENTS



ELOPMENT PACKAGE starting at \$855.00

Bridal bouquet

- Two bridesmaids bouquets
- Groom Boutonniere
- □ Two Mother's corsages
- Two Father's Boutonniere

PRICES VAIRE DEPENDING ON FLOWER TYPE PRICES LISTED IS OUR STARTING PRICES FOR ARRANGEMENTS



SPROUT PACKAGE starting at \$1995.00

- Bridal Bouquet
- Three Bridesmaids Bouquetss
- Groom Boutonniere
- □ Three Groomsmen Boutonnieres
- ☐ Flower Girl Petals 15
- Ring Bearer Boutonniere
- Two Mother's Corsages
- Two Father's Boutonnieres
- One Large Alter Piece
- Ten Small centerpieces (your choice of design)

Toss Bouquet

PRICES VAIRE DEPENDING ON FLOWER TYPE PRICES LISTED IS OUR STARTING PRICES FOR ARRANGEMENTS



BLOOM PACKAGE starting at \$3850.00

- 🛛 Bridal Bouquet
- Two Bridesmaids Bouquets
- Groom Boutonniere
- Two Groomsmen Boutonnieres
- ☐ Flower Girl Petals
- Elower Girl Crown
- Ring Bearer Boutonniere
- Two Mother's Corsages
- Two Grandmother's corsages
- Two Father's Boutonnieres
- ☐ Two Grandfather's Boutonnieres
- □ Toss Bouquet
- Cake Flowers
- □ Ten Small centerpieces (your choice of design) with candles
- Two Large Alter Pieces with columns OR Arch with Floral
- Seven Small centerpieces (your choice of design) with candles
- Seven Medium Centerpieces (your choice of design) with candles
- Six Large centerpieces (your choice of design) with candles
- Six cocktail table pieces
- One sign in table piece with candles

PRICES VAIRE DEPENDING ON FLOWER TYPE PRICES LISTED IS OUR STARTING PRICES FOR ARRANGEMENTS



LINEN STYLING RENTALS

	100 guest 10 tables	150 guest 15 tables	200 guest 20 tables
Table Linens \$8-15	\$80-\$150	\$120 -\$225	\$160 -\$300
Chair Covers \$3 -8	\$300- \$800	\$450 - \$1200	\$600-\$1600
Chair Sashes \$2-6	\$200-\$600	\$300 -\$900	\$400 -\$1200
□Napkins \$1-4	\$100-\$400	\$150-\$600	\$200- \$800
Glasses \$1.5	\$150	\$225	\$300
Plates \$1.5	\$150	\$225	\$300
Silver ware 1.5	\$150	\$225	\$300
Overlay\$1.5 - 6	\$15 -60	\$22.5 - 90	\$30 - 120
	\$1145 - \$2460 Setup fee/ Deposit \$500 fee waived with floral packages	\$1717.50 - \$3690 Setup fee/ Deposit \$500 fee waived with floral packages	\$2290.00 - \$4920 Setup fee/ Deposit Retainer required to book \$500 fee waived !!!





\$3850 + Your Styling Package of your choice below

	100 guest 10 tables	150 guest 15 tables	200 guest 20 tables
Table Linens \$8-15	\$80 -\$150	\$120 -\$225	\$160 -\$300
Chair Covers \$3 -8	\$300- \$800	\$450 - \$1200	\$600-\$1600
Chair Sashes \$2-6	\$200-\$600	\$300 -\$900	\$400 -\$1200
□Napkins \$1-4	\$100-\$400	\$150-\$600	\$200- \$800
Glasses \$1.5	\$150	\$225	\$300
Plates \$1.5	\$150	\$225	\$300
Silver ware 1.5	\$150	\$225	\$300
Overlay\$1.5 - 6	\$15 - 60	\$22.5 - 90	\$30 - 120
Chargers \$2 -7	\$200-700	\$300 - 1050	\$400 -\$1400
Place Setting Cards \$1-6	\$100-\$600	\$150-\$900	\$200 - \$1200
	\$1445 - \$3760	\$2167.50 - \$5640	\$2890.00 - \$7520